KINETICS/REACTION RATE PRACTICE TEST:
     1. Raising the temperature of gas molecules…
a. increases both collisions energy and favorability of orientation

b. increases neither collision energy nor favorability of orientation

c. increases collision energy but not favorability of orientation

d. increases favorability of orientation but not collision energy

2. In an activated complex
a. only bond-formation is occurring

b. only bond breaking is occurring

c. both bond formation and bond-breaking are occurring

d. a catalyst is always produced
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3. Which energy point on this graph represents the energy of the activated complex?

4. Which energy point represents the energy of the reactants?

5. Which letter represents the activation energy for the forward reaction?

6. Which letter represents the heat of reaction for the forward reaction?

7. Does this graph represent an endothermic or an exothermic reaction?
8. In order for most reactions to occur, it is necessary for particles

a. to collide only

b. to be properly oriented only

c. to have zero energy

d. both to collide and to be properly orientated

9. Which factor accounts for the fact that a sample of a substance burns more rapidly 

in pure oxygen than in air?

a. nature of reactants

b. temperature

c. concentration

d. surface area

10. Charging temperature affects reaction rate because such changes affects

a. the energy of the activated complex

b. the nature of the reactants 

c. the heat of reaction

d. collision frequency and rate

11. Catalysts generally operate by

a. increasing the temperature 

b. increasing the surface area
c. providing an alternate pathway that has a lower activation energy

d. providing an alternate pathway that has a higher activation energy

12. Inhibitors generally operate by

a. increasing the temperature 

b. increasing the surface area

c. providing an alternate pathway that has a lower activation energy

d. providing an alternate pathway that has a higher activation energy

13. The “poisoning” of automobile catalytic converters is caused by

a. unleaded gasoline 

b. leaded gasoline

c. carbon monoxide

d. nitrogen oxide

14. Which of the following units does NOT express a rate?

a. mi/hr

b. mL/min

c. g/cm3
d. m/s

15.  To determine the rate of a change, you must know

a. the extent of the change

b. the time over which the changes occurs

c. both of these

d. neither of these

16. On a graph that shows a rate, the x-axis generally shows
a. speed

b. time 

c. distance

d. none of these

17. If a factory produces aspirin tablets and packages them in 100-tablets bottles, 

how might the rate of production be expressed?

a. tablets per bottle

b. tablets per kilogram

c. grams per tablet

d. bottles per day

18. Which of the following description applies to the rates of most reactions?

a. there is a decrease toward the end because most reactants have been used 

up

b. there is an increase toward the end because remaining reactants combine faster

c. the rate of reaction alternately increases and decreases throughout the 

the duration of the reaction
d. the rate of reaction is constant until the reaction stops
19. How does changing the surface area of a solid reactant affect the rate of reaction?

a. Increasing surface area increases the rate of reaction.

b. Increasing  surface area decreases the rate of reaction.

c. Decreasing surface area increases rate of reaction.

d. Changing the surface area has no effect of the rate of reaction.

20. How does the collision theory explain the effect of changing the concentration of reactants on the rate of reaction?

a. Increasing the concentration decreases the rate of reaction because reactants are too crowded to collide

b. Increasing concentration increases the rate of reaction because there are more reactant particles to take part in collisions.

c. Decreasing the concentration increases the rate of reaction because there is more room for particles to rebound after colliding

d. The collision theory cannot explain the effect of changing the concentration reactants

21. How does the collision theory explain the effect of temperature on the rate of reaction?

a. Increasing the temperature increases the rate of reaction because particles move faster at higher temperatures

b. Increasing the temperature decreases the rate of reaction because few collisions occur at high temperatures.

c. Decreasing the temperature increases the rate of reaction because particles are closer together at lower temperatures.

d. The collision theory cannot explain the effect of changing the temperature.

22. Which of the following statements about catalysts is true?

a. A catalyst can increase the rate of a reaction.

b. All catalysts are enzymes

c. Catalysts are consumed more slowly than other reactants

d. All catalysts are metals.

      23.  Which of the following graphs represents a reaction that has an activation energy of 40 KJ and a heat of  

              reaction equal to – 100 KJ for the forward reaction?
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      Select the response that best completes each statement or answers each question.      

24.  Raising temperature always causes average molecular motion to _______________________
25.The minimum energy required to produce an effective collision is called_________________

26. A short-lived structure formed during a collision is called a(n)_________________

27. The Haber-Bosch process reacts nitrogen and hydrogen gases in the presence of a catalyst to produce the molecule _________________

28. The Collision Theory suggests that in order for a collision to be effective, the collision must have sufficient________________ and proper__________________

29. An organic or biochemical catalyst is called a/an___________________

Answers:
1. c


15. b

2. c


16. b

3. e


17. d

4. c


18. a
5. f


19. a
6. g


20. b
7. endothermic
21.  a
8. d


22.  a


23. a
9. c


24.  increase

10. d


25.  activation or threshold energy

11. c


26.  activated complex
12. d


27.  ammonia
13. b


28.  energy and orientation
14. c


29.  enzyme
